FMP 10 Quiz3.1-3.3 /18 Name_ K& Y

1. State the value of the designated trigonometric ratio in each right triangle: (1 mark each)
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2. Use your calculator to determine each trigonometric ratio to 4 decimal places: (1 mark each)

a) sin28° = _O, K645 b) cos62.8° = _&-US L
3. Use your calculator to determine the value 8 to the nearest tenth: (1 mark each)
a) cos@ = 0.7157 b) sing =2
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4. Determine the designated side length or angle to the nearest tenth: (2 marks each — show all
work)
a) 6.8m Gt = i u
g LR P ES e
x §1a b0 o
Z. 7
b) 20.9 cm '
_ 174
L€ T4 {
. E } Fa322¢vI Y
18.6 cm Gz 8 .&I;:.‘/'?- ? s
L7.1°
c) 15 in.
/ - X -
& Lo i)z /?ﬂ , L
. i ™~
Ja T 33 b = ; 4 4 |

4Uirysey !

OVER -



5. A kite is flown such that all of the string, 25 m long, attached to the kite is being used. A ladybug
clinging to the kite sees the person flying the kite on the ground at an angle of depression of
68°. How high above the ground is the kite? (show all work including a diagram, round to the
nearest hundredth, 3 marks)
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6. Solve the triangle shown. Show work. Side lengths to 1 decimal place, angles to the nearest
degree. (3 marks)
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